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Number

Language — Part A — KANNADA — Paper II

Time Allowed : 2% Hours ] , [ Maximum Marks : 100

II.

Tpesd: 1) wORSH §F enceSess.

) 2o 3R TN, 808,007 Toeony aoacdeert ~=oles.
i) Dogne B, AF0R mns eEremEHYRy BeonsL.

83 BPNIIYNY), oInFE8R R5EE, W, U308 : 5x1=5

1)

TeBRD TR, FODED TSR BT, — B8 B[R, FITFT TeEBIYN
TCIEFA.

2) . dede 85,9038, S3Tm — 8 598,3, ©F3,00583 53 0BT 3R, T8

3] SFTF KoNEST, BOINTHD. — 85 TE,TY, BRBTIVE, T[OTSFA.

4 5EET Bomrith susERy, YBE HMIBE, SRR, — & ToEE, FORRE FHFO,
B, - -

5} TORPody InTd eSO, — 8 738,36 0o SEi=pl~ STV~ R EAL ]
T3, 0083y, OBk, .

6] F>ai> 33 FOB arIAR achrivy, SR kgt w8 doeany 7,00, —
81 598,00, WORDR FOIRTHEATY, T4, _ '

7)) TR eonert Rooed. I0hY, IY, R eLIIT, SRR INTTHRLDI. — &
OB, TR, WRLRR 2,07 TETTYN BB 253000,

83 89N 2oy, BB RVt w308 : : 5x1=5

1) 8, 3p,0°39, 0mRT° de dpemyo BB, — St ToBTOHT 6, womed:
STt 8, IR TSRS, LODRBREAR.

2) Pew® AP 03T DN, BREEY, TBEFTINBY — 98,3, el 2333 Moy, Sos.

3 AR — 8 ISRy, eosedeens THB,T[Ry, Sesk. '

4) 23D BRI oA, — B8 BRI, NCB TF, NS, DO

5) JdegETwed e O, BEIIRNYR WOBRHOT LOTITTR edd.
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I 8 SNAREINTE), CRRTTIRTR [weds FB RO B08,3,7N 3,08 : 3x2=6

1) Cemembaos SUmEh sostrmn 2038 ‘s B, Sdde Beetee”
DY LN TITRE ? .

2)  WFHTII T5eS To0BLH WIS BerreoND ?
3) 23038080 TatEnd DESIRERHRON SowdyRcIna ot Sert ?
4)  DIISCE VEREE IP0- LSRRI ?

5)  Zo03SoRE, FoN, BokyLd TIOLITERD ?

V. s 39n3 ooy, BB RN TORE Y03 Ty, GO/ 2T0WD ¢ | 20 x 1 =20
1) sen @it — 81 IRTIY, WRA WI0W.
®) 3L + AN &) BOT o+ AN Q) T + ToAN -
2) 2BoRRREON — & VRBY, T R0 BRI ? -
8) SeesE R0 ) e R Q) FQ XY
3]  $BOODHE SRy, TN ? .
®) RRD 8) [, ) WP
4) DB — & BERODR 23y, BRINY B035, Sy, ?
®) o ) oo ) TR
5) Rent — S ST S Se@meD,?
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&) HQon &)  A,edon ) SFoxs Oon
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©®) Y &) F[NOTH q) B3
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®) TFoIND 309 Q) R, IR Q) e oY
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®) s, &) R0 q) &8,
11) oeEtE — S ITTY, WRA WI0WD.
©) R0 + PR ¥) RoeR + O3 @) b+ dondks
12) 05 — &3 BIT 03RONS ? '
®) ae3n : g) ooson Q)  FRYN

13) 08,8, 3R ? R _
®) o3 ) o, Q) <205,
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15) o — S SERO.T DY, Ty,03 BRI ? '
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16) 23R, POLVTT 03598 ?
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®) 3od ©) R @) 38,3,
20) ©3,BRVNG, HOLT | |
©) oW  B) ARG @) 83
83 BSNIFNTE) CRRYTIFTR wTE, BN, B0 6x2=12

1) 33 Serancedd, omy, Lo 8,05503,0MwE ?
2) Q250D ROCINT?,E,0NON ATE YOTITTH JeR.

3) ©08BITR NOWIE ? LOTITOA.

4)  RoaT,mowE FRFTOR QOB 7 YOTIBOR.

5) 83 Roprivay BON, YUERETS Hea.

6) #dmr&ez;’y? RoOR QTR LOTIROE Red.

7)) ORRET, 0BT — S IFNS G, CRBIIRY, 20C0.

8 1g, IB,NECERR, PoBcsRtn LB T8, BFI0E, PR BRSD ? @ JFORY,
T3, OB a2y, NG SITONSRY, WIOWO. .

B3 89N Qo JJ nere Y8R ¢ ' 6x2=12
1) BHOR ZRPT 0T8I ? AT

2) 1o RO NOBTERD ? LNVTIHOA.

3) R, AR OBV ?  LOTTOBOR.

4) B0, HRTHH — S SENY OB, WD, IR BT, WO

5)  RPOFEDD, RAE — B3 IEATRY, BRLE, eomadeenA. )

6) TR ey ©F, LR, WO, YOTTIRVOR JeB.
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VII.

VIIIL.

891 DeRT N,enTsy Wd AeBoE I nent o3 o8 : 5x2=10

BORT S0BS B, AI,FNT,OF TTHTR. ‘B0’ S5 BB 0p F0TH OFE. T,
%8, 308,08 MY, ReD5, NERTRL, BRTELNAD, TOBBINI, DY - WYNILTT 20,
BEOTHIY, Ty TOXT ORQYZ,eR. FIPODTIN BRTT L30TEBRAVOTIN TOBIRTEITE,
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2) ORT IO, RoEeD ?
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4) HOXT %00y, B 0B ?

5) HOXT RoTE,BoDA), A, BREROBER ?
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83 INSIYNEY, WRRYEIETR WoBRY, SO, FI0g S0 1x10=10
1) Omo,pFRve, bRy, P

2) 29033 BogoIR
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| 4018
Register :
Number

seaflsb / MATHEMATICS
( Tamil & English Versions )

Cmybd : 2 %wmﬂ ] _ [ Qurgs wHiGueser : 100

Time Allowed : 2 % Hours ] | Maximum Marks : 100

@iy | Instructions :

i)

iii)

@euallamsarer previg LGsst CeTaTg). euQeur@® uEHuller weteub
Qar@ssiuL erer GPlyssNdig elowsfssaj.

This question paper consists of four Parts. Read the note carefully under
each Part before answering them. :

erTTEID, TWHED HBsswrs BBsse CaHb. aloLsenéefiu 2 sall
ugsemen ( Rough work ) efleoLgsrefler Sipiugdiled Gselarss sm Layb.
Write legibly. The rough work should be shown at the bottom of the
pages of the answer-book. _ _
Coreumpdies oeflésiu@d wLLsos, wsCsramalud oL aaamer
GG LwETLRSSayD. -

The logarithmic and trigonometric tables issued at the centre alone should
be used. :

UGS - o / PART - A
(vfQuesiser : 15) / ( Marks : 15)

edloy | Note : i) %ﬂu@@uﬂé eoten ugloarps eflaTseensed

oL wefl&seab.
This part contains fifteen questions. Answer all the
guestions. .

i) @iiflallé paiQarg alaralbed, preére wrvn el ser
2eflesiuPeiotar.  ouble shurer Sveng Blsll
Quresswrea alorllomas Caira Qeig, Ssames ©N&E b
&5 ( Alphabet ) aflom eeor GHII G oo gsrefld
TRSD. !

Each question has four choices. Choose the correct or the
most appropriate one among them and write down the
alphabet indicating the response. 15x1 =15

1. 54, 18,62, .. a&mp Queses@sr i aflosilsd Qupse aldsh

a)

c)

The common ratio of the G.P. 54, 18, 6, 2, ... is
1

3 : b) 3
! i

2 \ d) 3 -
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2. 1+2+3+...+n=

n+1

a) 5 b) n(n+1)
nin+1) n(n+1)

c) ——-—-—~—-—-—-2 d) —'——_“—3 s
3. &bllér Qursst yplurly

The total surface area of a cone is

) mr2l | bl

o wnr(l+r) d) %nrzh.
4, A'NB!=

3 A'UB' b (ANB)

¢ (AUB)' : d ANB'.

5. A={1.2.3,45) B={2546) aaie A~B=
If A={1,2,3,4,5}, B={2,3,4,6} then A-Bis

a {1,2} b) {1,5}
d {26} a {16}

6. m% m!12, m!® & S.Qur.eu
The G.C.D. of m%, m!2, m18 is

a) mé& . ) ! b) m 18
el” m* ' ' d m38,
7. 16x2y*z!6 &1 arssmpeb

The square root of 16x2y4z1© js

a + 4xy?z4 b) =+ 8xy?2z8

¢ % 4xy?zs . - | d £ 8xy2z4.
8. s gL srabd a@sss QardEnD LTos eresTLIg)

a AL sder are SieTey b) Qsuwé

c Zrasesbs LTos - d papey.
The path that takes the longest duration is called '

a) project duration b) activity
¢) critical path d) event.



10.

11.

12.

13.

14.

15.

3 - | 4018

o0 CaTiyé S@bUTs ey yereflae aufiCu auepuiu@b el hisefler
6T 6501 6001 608
The number of circles that can be drawn through three non-collinear points, is

a 1 . b) 2

c 3 : d 4.

Q0 eaysdler wpoaailLb 5V2 m aaflé, sarsdleT LSS SeTay

The length of the diagonal of a square is 5V2 m. Then, the length of the side is
a 10V2m b) 5m

9 +V2m d 10m.

2y = 3xaad1p Cpir&Gamiiger smiey

The slope of the line 2y = 3xis

a 3 b) 2

3 2
c) 5 d) 3 - | |
(8 2)whob (4, 6) gdu ysreflamears Catseb "CrpiéCamr @d gedomge
eowiisiref] ' ' ' ;
The mid-point of the line segment joining the points (8, 2) and (4, 6) is
al (2:2) | b) (6,4)
¢ (4,.4) d (2,-2).
cos 6 = \(% aracflen, O -allesr iy
If cos @ = £ 5 , then the value of 8 is

V2

a 30° b) 45°
¢ 60° d) 90°.

L - SuQu@ wiy, S - $68p vy aaflé afée
If L is the largest value and S is the smallest value, then the range is

a L-S b) L+S
L+S L-8
&8 T-8 ' A res

S UsOL HPemD 2 (BLLLU@D Qurepsl, spiheop eresor SHeoLés [5159955'614
If a die is rolled once, then the probability of getting an odd number is

a) b)

N|= =
INTORAS)

c) d)

[ Turn over
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16.

17.

18.

19.

20.

21.

22,

23.

4

u@g - 2, / PART - B
(weiQuesorser :  20) / ( Marks : 20)

eoluy | Note: 1) @uuedllile Qar@ssuul@eier udloearpg eflarssefle
gCseub uss alamésEnsE WL Pb aloLweflssab.
Answer any ten from the fifteen questions.

) elerser QupiulL auflpepsdr QeT@ésuuL. Caimo@b.
Show all the steps. 10x2 =20

9,8, 1; ... v&1p QUBSHESGS it mﬂ@&tﬁ!@ 7-6ugl 2-pIlieOLS &ITeoIs.
Find the 7th term of G.P. 9, 3, 1, ... .

iy sredms : 11 + 12 + 13 + ... + 30

Find the value of 11 + 12 + 13 + ... + 30

yotugly 36x egy &8, Qareoi Cametsgler seriene| &HTes.
Find the volume of a sphgre. whose surface area is 367: cm?2,
QeuetoruL b eusoys : A-— (B C).

Draw the Venn diagram of A- (BN C).

Senarss seod E={1,2,3,4,56,7}, A={3, 4,56},
B={1,2234}.aeflé (AN B)' g srams.

The universal set E={1,2,3,4,5,6,7}, A={3,4.5,6},
B={1,2.3.4}.Find(ANB)'.

(x-2)oerg P(x)=2x2-7x + 6 aaip uogpiys GCaroald o
STTENUTGD eTeo1dh ST (. |
Show that ( x -2 ) is a factor of P ( x) = 2x2 - 7x + 6.

(x2-9) wpmid (x2+6x+9 ) S flwaipBles 8.Qur 1. sTHTS.

Find the L. C. M. of (x2-9 ) and (x2+6x+9).

euewy) : ghysmLw uGd ( feasible region )

Define feasible region.



24.

25.

26.

27.

28.

29.

30.

2 : 4018

SpéaTamb UL x -6 wFious ST aons.
Find the angle marked as x in the following :

: Sp&ergmid UL Sl gnen‘?sr-&m AB-yb, CD-yb e L gSleierGen P ereiip erefufieo

Qa1 60 smerdldrper. CD aap CaTlBSeIey & Hensmsé HTens. :
Chords AB and CD cut at P inside the circle as in the given figure. Find the

length of the segment CD.
A '

5 s

7x -5y = kaerp Cpr&Camirearg (1, 1) eresip yefref aflurss Ceadpg aafld,
k-éb1 wEI wrg) ?

If the straight line 7x - 5y = k passes through the point ( 1, 1), find k.

3x + 2y + 1 = 0 asbigid Cpi&Camigsr srla bhpb y-&1 Sés Cu GsacTl
&ITCToT & :

" The equation of a straight line is 3x + 2y + 1 = 0. Find its slope and y-intercept.

6 Qa.5. Uss Sma OeraTL @6 UEEe SDCsravsilad Sowbs
2 _effeul L $S6T U THSS HTEToTs.
Find the radius of the incircle of a regular hexagon, each side of length 6 cm.

37, 39, 33, 46, 48, 52 a&dlp usrell elaurhsepbe alsas Qo sres.

‘Calculate the coefficient of range for the data 37, 39, 33, 46, 48, 52.

Gy Crrsdle epeiy BrevTuhser s UL@D Gurg, sflurs Grean® g;séweua-.«sr‘r
OLLUUSDHSTET H&HDSEa| eTeTar 2 : i
Three coins are tossed simultaneously. Find the probability of getting two heads
exactly. :

[ Turn over
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uedl - @) / PART - C
(w@llQusmaer : 45) / ( Marks : 45)

egliy/ Note: 1) @Quuedde 10 alaméser o ererer. eaitlam@ allarealaub

E\® wrhp eleTTéss 2 stenat.
This part contains 10 questions each with two alternatives.

i) gdaearp oflomalend o erer @@ wrpg afarrésaia
gohloas Csmb0s0ss, Qurssb getug mﬂsoma,as@é,@
oL wellée Ceouetor(ib. :
Choose either of the alternatives in each question and

answer any nine questions.

i) Cowawrer QLasdle Ozellarer ugser, uLhser

Oer@ésiu. Ceuasor@ibd.
Steps and diagrams should be shown wherever necessary.
9x5 =45

3l. a vy srzs :
400 + 441 + 484 + ... + 1600.
Find the value of the following :
400 + 441_ + 484 + ... + 1600.
<evevgl / OR
b] 3+334+333+..aemp Qerenis neglisdisr am@sdh sres.
Find the sum of n terms of the series 3 + 33 + 333 + ... .
32. a 450s4. cugpsien g ardlfdsr Qoupwd SoBHS LSS 2y yhiset
- eoopGw 28 Qs u8., 7 Qs uf. Scheurefiles @aarrsfrsfrsna:om& ST EToT5,

If the radii of the circular ends of a bucket of height 45 cm are 28 cm and
7 cm, find the capacity of the bucket.

<evevgy / OR

b) 3 alliieier ey 20 of 2 Ppsdde GCoraoLiudps. Gsmedmg l

.sr@a'ss.ﬁrun'.t_ weser 1518 2 wyapefrer QL Cri .auuhurrs: @a&lé&ﬁﬁﬁ@aﬁ]mg sréuﬂé:,
abUfler Supd sres. Vot .

A.well of diameter 3 m is dug to a depth of 20 m. The sand taken out.is

heaped into a right circular conical pile of height 15 m. Find the radius of
the conical pile. '



33.

34.

35.

b)

b)

b)

7 gy 4018
G poTsHle eudliuautas 65% Guir gblb ,. 52% Gur?'@rj;éﬂulb, 40% egaSHD
Guit wevewretapd Cusdprisst. 30% Gui sflab, QbSlub; 32% Gurr sllwb
e W e (pb; 25% Guit Qbélyb, Lnana)u.l.rren(g)to; 10% Guir @bepen
Quresmergseally wHpp OCurflsemeryd Cuadlpriser eaefléd, apamy
QurPesenyd Cuss Qsfbsarss assomer egalsb 2

65% of the people in a city speak Tamil, 52% speak Hindi and 40% speak

> Malayalam. If 30% speak both Tamil and Hindi, 32% speak both Tamil ain_d

Malayalam, 25% speak both Hindi and Malayalam and 10% of the people
speak other different languages, find the percentage of the people who can
speak all the three languages.

@;@@@/OR
QleucsoruL g6l ped Hieslés : A-(BUC)=(A-B)N(A-C).
Prove A-[BU C)=(A-B) N (A-C) by Venn diagrams.

8x%+ x%+ax?+5x+ b aergd Csremeu x +2 Cuoaibd x - 1 Hwappre

- Bl auguLLme a, b s fluaipdiar wiysaené sTakrs.

Find the values of a and bif 3x*+ x3 + ax? + 5x+ b is exactly divisible

by x+ 2 and x- 1.

2evevg [.OR
Sogoo L XI=Qk8 W81 %2 Txer 12
TRl s xZ2-4x-12 * xZ-9x+ 18"
' x2-2x-8 4x-8 x2-7x+ 12
=il X — 2 >(x2-4x—12+):2---9x+18'

QItésaped STes @ 16x2 — 24x3 — 31x2 + 30x + 25.
Find the square root of 16x4 - 24x3 - 31x2 + 30x + 25.
<evevg [/ OR

giremad sreois :Vx+5 = 2x + 3. ;

Solve Vx+5 = 2x+ 3.
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36. a) &pssrgmid SELEUTRs® UL wopds giés i
x-y 2 2 |
3x + 2y <21.
( cueyUL gTeven 2 LGWTE&8S5 Casoaufldvens )

Solve graphically ( without using graph sheet ) :

xX-y 2 2
3x + 2y 521.
Zevevg / OR
b e HLsdd .&iL’..l.G)JGb)éSUT SleTeumorm :
Qews 1-2|1-3|2-4|2-3|3-4[3-5]|4-5
HTeV &mq(@ﬂ;&.(‘;ﬁé\;) 5 | 8 7 6 5 4 8

i) UL LILD 6UeDE.
i) Srabeshs UTOows STs.
i) BT eTENCUS HTETITS.

For the followmg table,

Activity 1-2|1-8|2-4|2-3|3-4|3-5]4-5

Duration indays| 5 8 7 8 5 4 8
1] Draw the network for the project -
i) Find the critical path
i) Compute the project duration.
37. a ‘96 @éaGa_arrcwrg,é'\d) geras 96 Gsramsdlar G@GswL Qeul g,
25Caramsdlean alifiusEssos, Caremisdlen &3 SGsgehern uS SRS eT
Nfasde INseD” aer Hpeas.
Prove that “the bisector of ény angle of a triangle divides the opposite side .
in the ratio of the corresponding adjacent sides”. '

Syevevg/ [ OR



38.

39.

b)

b)

b)

< 4018
A, B, C ouw smmmrﬂassnrrssés- QaraoL el Lkser OGeaeals0sTHems
Qe&rco@ereter. AB = 7 Qs.f., BC = 10 Q&.5.,, AC = 9 Q&.15. srcoﬂéo,
SyTRseNeST BeThiaa@ens: SHTeoTs.
Three circles with centres at A, B and C touch each other externally. If
AB=7cm, BC=10cm and AC = 9 cm, find their radii. :

(x,-11), (2 3)wpob (4, -1) du yereflash oGy Cpr&Camiged
SOLHSTE X-651 HIOUs ﬁrrcz_:'ur‘_e;.‘
If(x -11),(2,3)and (4, - 1) lie on a straight line, find x.

| <éevg / OR
2x-y+5=0,x+y+1=098u CrisCarfes OGarys Qsamerepd
yerefldler euflurseayb 3x-y + 1 = 0 aaip Cri&Cariype G oeTursayb
Qaweu@b CrraGamiqeT sLETUTL @LE HTEDs.
Find the equation of the straight line passing through the point of

intersection of the straight lines 2x-y +5=0and x+y +. 1 =0 and
parallel to the straight line 3x-y+ 1=0.

Sqluss perd 16 Qs.f., 2 5d6Gsramb 57° QeraiL gf @ BELUSS
w&Caremigdler Lylys sredors. (tan 61° 30! = 1-842 ).

Find the area of an isosceles triangle with base 16 cm and vertical

~angle 57° (tan 61° 30' = 1-842).

gevevg) / OR
200 f 2 uppeier QG SISO aﬂm&&,gélsﬁ;r 2 80N Bha oz
@ouphseiles 2 eter sludsalldr Qné&ss Careomsst wepGu 30°, 45°
aaflé, @reo® sliudsEnsbe QoL Quusier Brrsamss sy sseab.
From the top of a lighthouse, the angles of depression of two ships on

either sides of the lighthouse are observed as 30° and 45°. If the height of
the lighthouse is 200 metres, find the distance between the ships.
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10

40. a 16, 13, 17, 21, 18 e nﬂeﬁgﬁ:ﬁ@é@ pIpUTL0& Qawead sres.

b)

Find the coefficient of variation of the following data :
| 16, 13, 17, 21, 18.
Zeevg / OR
fyren useoL @& 2 GLLULGHDE. SpeHeTEID EERIETC L
NEEELREL e
) useLWedr wsb 3-p& sTLHS®

i)  l-g oo Quilu aater feLpse

i) heop e useL e wesslée Caraipgen
iv) useoLlld wasdled 6-61 uaThaTTRNS aBSHE.
A fair die is rolled. Find the probability of getting (i) 3 on the face of the

die, (ii) a number g_reater than 1 on the face of the die, (iii) an odd nur_nber

on the face of the die and (iv) prime factors of 6 on the face of the die.

u@d -7 / PART - D
(wHQuetorser : 20) / ( Marks : 20)

efloy | Note: 1) @ruedie Qo olaméss 2 sierer. Qe aflamailgd

41.

@® wrHp efleTTéee 2 eerer.
This part contains two questions, each with two
alternatives.

i) @aCars ellamalyibd e LTHDI amealeoad Cariey Clgls,
- @6 damssaseh aloLwefssab.

Answer both the questions choosing ¢éither of the

alternatives. 2x10 =20

PQ = 4.5 Qs.5. QR =55 Qs.5. PR =65 Qs.5. PS = 4 Q5. Sjenaysef
Q&reorL. PORS eredip eul L BTH&TD eUeD]S.

Construct a cyclic quadrilateral PORS given PQ=45cm, @R =55cm,
PR=6:5cm. and PS=4 cm

<eevg / OR



42,

b)

b)

11 _ 4018
PO =60s.f. m Z R = 40° 2.6 R f®hs PO 46 cueyuiu@id

©585CaT g6 et 4 Ga.f. erer G BEGDbLY POR eredtp pé&Gamemid auays.

Construct a triangle POR such that PQ = 6 cm, m £ R = 40° and altitude

from R to PQ is of length 4 cm.

y=x2-4x+ 3 Qe aupuLd eurhal, s wod x2 - 4x+ 3 =0 aerp
SDESTUTL LS ST&s.
Draw the graph of y =x2 - 4x + 3 and hence solve the equation

x2-4x+3=0.

yevevgy /| OR
BTG ubysends Qerai® GG sETant CQarigulle B Biyiu 72 wewf
Cryoreb oo scsdLuu@dpg. 48 vaxll Cprsdle Osrigdle Py
QPewwuTs By adgemer ublyssr Coemalil@b eTar eueTULID (PID ST s.
It is estimated that the water tank can bé filled in 72 hours if 4 pumps are

used. Find graphically how many pumps would be needed to complete the

work in 48 hours.
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Number : |

@{[ﬂ aluév / SCIENCE
( Tamil & English Versions )

Gryh : 2 %m@u‘ﬂ ] - [Qurss wduCuamsst : 100

Time Allowed : 2% Hours | [ Maximum Marks : 100

ugd - 1/ PART -1
(wPQueTo Sl : 20x1—20)/{Marks 20><1—20]

ey /N.B: 1) Sordsl aﬁ\so'rrra‘aes@é:@Cn aSlsmn_u.lmﬂ&,assqm.
Answer all the questions.

i) sflurer NeoLows CaibosdsE! s\'@g&,
Choose and write the correct answer.

1. Gué Gprsd aduyb Qur@Gsr QUBL e LTS DLW TB555 QameiEnd Cnib
a) ug)e'ﬁ@iﬁ &reud b) GuGehm Cryb
c &fimés Cryb : | d) des Ceus.
‘The time taken by a body thrown up to reach maximum height is called its
‘a) - time of flight ; .b) time of ascent

c) time of descent d) velocity.

2. @efitergel QuL_g e Qu.ist‘sru@fn erefldlér ellur@in Siyeud

a)  Oflurer b

c) afedwd _ d I CLrmer.
The volatile liquid used in refrigerator is

a  freon | | .b) water
.€)  helium . d) acetone.

[ Tum over
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SiWE3 sawLhaoad 2 eer Brrall Siwdsb STt

a) 3l Zupssid b) 1 euefl Syuss
c) 2 eusll Syésb : d) 1-5eusfl Syésb.
The pressure of steam inside the pressure cocker is about
a) 3 atmospheres b) 1 atmosphere

. ¢) 2 atmospheres d) 1.5 atmospheres.
JETENITT 7 3 S & Hlaqpd.

a) dlyeugdlen Cupryinie

b) dyausder suglugile

J  Ayesder RGNS

d) dlyeusdlett Cuoburiny whHmibd guq.uu_@é]uﬂeﬁ
Evaporation occurs at '

a) the surface of the liquid

b) the bottom of the liquid

¢) the middle of the liquid

d) both at surface and bottom of a liquid.

SlesTeupeussteuppieT sTenal (PSETE BIDRS6T 7

a) fleuly, uéeos LHYID Hevid b) Heuy, dures wHod BHevid
c) e, Hurs wHD GuogedTLT d) eamgr, Sy LHDD LED®S.
Which of the following are primary colours ? '

a) Red, green and blue b) Red, cyan and blue
"¢} Blue, cyan and magenta d) Violet, red and green.
9® ©Slonsdlpe aetug

a) 1000 eurZ b) 500 eurl

c) 746 ecum_ d 647 m.uj'x'_.

One horse power is equal to .

a) 1000 watt b) 500 watt

c) 746 watt . d] 647 watt.

ow&ECYT SPNe@T 2 HuTss 2 sab sHl

a &mellg @l b) LHerafllpsss @pri

c) Goserlgrear v d sl dllens@ser.
Microwaves are produced by

a)  Coolidge tube b) discharge tube

¢} magnetron d) vapour lamps.

6 swyedies pH 6-0 aafler g

a eudlew Vg ubleuid " b euleow Bg smyd

c euslleow Gophe lfleud d) euedeow GeoDHE SMD.
The pH of a solution is 6-0 means, it is a

a) strongacid - ' b) strong base

c) weak acid d} weak base.



10.

11.

12.

13.

14,

15.

16.

3

He sidlswrs GefiTes Qs LWL L BT

a) yGymliey b) &eSTEmITY
c) susd d) ©Qermile.
Which is considered to be supercooled liquid ?

a)  Bromine - b}  Glass

¢}  Gypsum d)  Chlorine.

GerLm gmbUe EreTLg :

Which of the following compunds is called ‘soda ash’ ?
2  NaHCO, b Na,CO;
9 Na,SO, d  NaClL

urflev srhgielst Caudl eurbiim@
Chemical formula of Plaster of Paris is

s (2CasO,).H,0 b) CaSO,.H,O0
¢ CaSO,.2H,0 | d (CaSO,),.2H,0
o Qarshsalar Sraar aar 2opselu@alg
a) susb . b)) Qeueefl
0 Seubaiiud d @®by.
Which is called the ‘King of metals’ ?
a Gold b} Silver
c} Aluminium d)  Iron.
geflsBaiisms Bapsd @bs aflosdé poQupdlng

- a) gl whnid GG Qigwcasar b) efl Qewd vl G
o @mer wHnid el Ceudser d Q@mer Gswe wIGD.
Photosynthesis proceeds in sequence of
a) light and dark reactions b) light reaction alone
c¢) dark and light reactions d) dark reaction alone.
safln aaensd @ram@ UflaserTs AslLESsILLE @ETn QUEBLPSSRSHET
whHOPreTm _ :
a) @eluebwur peshs e b) [T PRSESET
¢}  Smiruest d eoplyges.
Mineral elements are divided into two categories, macro-elements and
a)  essential elements 'b) micro-elements
¢) carbon d} nitrogen.
&C8rrGurCerh o6 LEGSoL GbETR S8 '
a)  @ulyluTsd b) B&eb
) sows) geuub _ ' d) © QL Quuige.
Chromosome lacks a chromosomal segment
a) duplications b) deletions
c) inversions d) translocation.
Setaimpeaiaaibniet ahsl LGS SUTS wrSng ?
a) L6l b) el
c) wLaIHSLIOU d GosLeu.

[ Turm over
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1L 7.

18.

19.

20.

S 4

Which of the following parts enlarges and develops into fruit ?

a) Calyx ' b) Corolla

cj Anther d) Ovary.

SiglalLg et LWl sMyeILTS 24dls 2 e 2 L Q&TeiEnd (LoD

a)  uredyflwr b) wuredigrdwr :

¢ wrelGugdur d)  umeSwmiwn.

Excessive appetite leading to increase the intake of food is known as-

al  polyuria b) polydipsia

¢) polyphagia d) polymorphia.

ahed sTaurbsleT Gaur @rsst Ubp Crreows GEIIILESS 2 SRDS ?

a) Gluper g evodCumour - b) - eflerer Crrdlur

C 2 OUTQIITELIT Q)eTTIQHIT - d) el CleflyooiGenTyib.
. The pla.nt root which cures blood cancer is

a) Ferula asafoetida b) Vinca rosea

c) Azadirachta indica d) Ocimum tenuiflorum.

&TLHd SWesssi sSTeoiub UGS

a) Af srhser b) &&&l LGS

¢ &haryeusd d) pedfl wee.

Wild asses are confined to

al Gir forest b) Rann of Kutch

¢ Sunderbans d) Nilgiri hills.

wESL LBBS SLTTLES) @@jmmm eTIRIG 2 6fTengy) 7

a) Giéed b) @&Ger

¢  beu : d eansyrurs.

Where is Central Drug Resca.rch Institute located ?

aj Delhi : b) Lucknow

¢}  Mumbai : d) Hyderabad.

ugd -II / PART - II
(w@Quetsraer : 10 x 1 = 10) / ( Marks : 10x1 10)

eplliy [NB: 1 Soabs éﬁ]esrrr#,a,@é,@in el wefl&aayb.

21.

Answer all the questions

i) eflloLssdt oo OCsrd Sdeg aﬂeu Q&nmam e g
26 axrfifle Qnsss Caiwm®id.
Answer should be in a word or in few words or in one line.

Qa Gume-rﬂ LEL..L_rﬂeo LWESTURD sSsusHer Quuit wrs 2

Name the principle used in Vénturimeter.

22,

o6 A iQurpsilar Ber alflayseb, uew alflageb 2 srer Qgrn.ﬁ'q wre ?
What is ine relation between the co-efficient of volume expansion of a solid and

its co-eflicient of linear expansion ?



23.
24.
25,

26.

27.

28,
29.

30.

31.

Bt geoLWlen e Wirgl 2

What is the unit of electrical resistance ?

6 SEUHOD ( amu. ) ewdldr S bHné wHiy eredreat 7

What is the energy value of 1 amu. ?

298 K Qautiuhlenele Bifler el QuEBHsSST S W) ?
What is the value of ionic product of water at 298 K ?
Speumd Coiglé slasim el urss Qe :

Complete the following chemical equation :

NEE HEOH 5 it B +H,0+CO,

SpsecoL Carohseile 2 erer alloers Qews QsrEdou aRde Wl :
Pick out the functional group from the following compounds : :

a) CH,4COCH,

b C,HZOH

sTeTae 2 oL TéGh ursefluggler Cuwi erdreor ? :
Name the bacterium that causes cholera.

welsr QeCupEs e pIliLssT wreval ?

Which is the reproductive parts of a flower ?
HeNl&ac0eaT eTedIDTEy eresTest ?

What is pisciculture ?

u@g) - I / PART - III
(pHuQuaiaet : 15 x 2 = 30) / (Marks : 15x2=30)

erfluy /N.B: i) srsmeu(.‘?‘u.z@nb 15 erss@nse eloLuelissab.
Answer any fifteen questions.

i) o ercsoraer 32 wHpd 38 ySwaHPDE wrewTa, T et elwi
semgiurs ool wuslés Cauca@d. Gealyaa® alleorT &8 @BHID
amiug Qsflalbe ( Option ) e UL TSl
Students should answer the Question Nos. 32 and 38

compulsorily. These two questions are not included in the
option. - '

QuitrQerenedlesT CabHDEDSHS s@g;]&,., QuirQeTened FwWETUTH HWHE.
State Bernoulli’s theorem and write Bernoulli's equation.

[ Turn over
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32.

33.

34.

35.

36.

37.

38.

39.

- 40.

41.

42,

43.

6
150 Symd HeopOaranL. grilysdear Qeuliu Howow 293 K Aeha 295 K aioy
2 wips Caeeaulu@d Qeautiu S bpeller Sjamemeaid sansd(s. (sThlysdlear ser
Qeutin ghusdper 386 J kg -1 K-1.)
How much heat is required to raise the temperature of 150 g of copper from
293 K to 295 K ? ( Specific heat capacity of copper is 386 J kg -1 K-1 .)
uelléensdlear ssgusms alla1ébE:s.
Explain the principle of ice skating.
seoieomy geflfienpdles vusTLT@seT GHIIE.
Mention the applications of optical fibres.
UTTen6U BLIGLIL] eTeTDITE) TedTenr ?
What is called persistence of vision ?
Nererwssse0s ey
Define electric potential.
Hesteumd Sigmibsm aloanile X2 U sn Ye Ll amars brndps
g X2®¥ > Y+ ,He 4 Ya_l'_&:@s).‘ﬂc&r S| 61601, BOD ETETOT WISl ?
In the nuclear reaction given below, a nucleus X changes into another nucleus Y.
e X226 > Y+ , He 4. What are the atomic number and mass number of Y ?
oaplrgest Suaflé Gefley 1 X 108 Guré.efl ! srstsﬂem seoreele o eien

aplyréadle Sualseisr Geflomas sca@iy. _
The hydrogen ion concentration of a solution is 1 X 10~ mol L-!. Find the

hydroxide ion concentration of the solution.

LA 6T eTdodledr LGS QUTBLsemer adll LweTHmen &TYEIS .
Write the composition and uses of tungsten steel.

SDSHTE] ETETDITEY 6TedTenT 2 |

Explain the term ‘concrete’. _

2 Caurad sevemel TIPS raTe ? TRSHEHHTLD &5HS.

What is an alloy ? Give example.

sfilugas sTHRG Spbs @assTd BT LaUeTUOL Gpédlna. et 2
Why does aluminium lose its shine when exposed to air ?

a55Cermuils ,gil.&euﬁﬂsm PSP LTSS Wremey 2

_ State the important uses of ethanoic acid.

44.

Geruyset wHpd sewoeas QurelsaloLCu o der glsamb @Gy
Caupur@aeer er(ysis. |
Write any two differences between soaps and detergents.



45.

46.

47.

48.
49.
50.
Thot f

52.

53.

54.

7 _ ' 4025
Leoslaome Grass coeugadet LLD aehal UT&EEeTS &0
Draw the diagram of Tobacco Mosaic Virus and mark the parts.
Qe Crmblui Sjewhgisien LSl a{Lq.uuemt_uS\éu'@qu(ﬁmn@&nfamaﬂs&r‘mmamaﬁ _
wremeu ? ' |
Write the different types of chromosomes which are classified based on the
position of the centromere.
WL @urrgﬁ]uﬂu.iéo STETDTE) ETEHT T ?
What is genetic engineering 2
SHTEVEN ETETDITEY eTedTenT ?
What is callus ?
CUTDEHE G DUTSHE GTETDTE ETETEnT 2
What is meant by addiction ?
HesCamenm LILLL L6 2 6fer Geudlly QuUTGL-HelT Wrenea ?
What is the chemical composition of cinchona bark ?

2 Pl GoTsEITES aBBe TETDTE e ?

What is biological accumulation ?
pTHD Do HEEos asgae uUESLILGD 7 el WTeneal ?

How many types are there in transplantation ? What are they ?

ugd$ - IV / PART - IV
(wPuCuesoaer : 8 X5 = 40) / ( Marks : 8><5 40)

ey /INB: 1) gaar® Afafleprad o©opbza el

Sarrésoaurag 0eNaGelg Qursh T alaTsHEHES
ol wefléasa|b.

Answer eight questions by choosing at least two questions
from each Group.

i) Gaoauiupd @Lhseaia LLD aoTs.
Draw diagrams wherever necessary.

Yifley - =4 / GROUP - A

Carermafler @uésd upPlu Qe aNdeaens sl alloTéGs.
State and explain Kepler's laws of planetary motion.
srbgreler ssgieub, Gaime Qelyd lsses aleufl.

Explain the principle and working of a camera.

[ Turn over
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55. A.C.Hlerefub) eemler semwlicmuyb, Qeudur oL yb elarés.
Describe the construction and working of an A.C. generator.

560 2AIHEEG Teteallyd, Signise® Goeroanyb luii@s.
Compare the nuclear fission with nuclear fusion.

9fe; - g / GROUP - B

57. el Gaussden S afleau@Our@eilar Qeplaleasr allamearena aleuf.
Explain the effect of concentration of reactants on the rate of reaction.

58. Qe weopullé savcolliyfls Sufleud erebeurp swrflssiL@dng
Describe contact process for the manufacture of sulphuric acid.
59. &psacoieaubni et SFILYs ybled asueury eflesrufldng 2

How does acetic acid react with the following ?
) NaOH ) C,H OH iii) PCl,

Uifley - @) / GROUP - C

60. @q&;gs_&,g‘ﬂs&r. 256586 FapIseT LD HL QT TEs.
Write an essay on the composition of blood.

61. gfer aresTDTE ereTa 2 @)&6T LB HEHESLTS aleuf.
What is a gene ? Explain briefly its function.

62. pes Cedselle LLSTUTHSET WTema 7
What are the various applications of the stem cells.

63. &leybir &rg)é‘la,rﬂuq (PEnD&ET ug)gSI aWa. Qurgssfley &&,gﬁlarﬂuq eoWLD LD[DD_ILD

2iHeT P&FUSIeUD LDH TWES.
Comment on the methods of efﬂuent treatment. Add a note on CETP ( Common

Effluent Treatment Plants ) and its importance.

64. Opev er@LY LHD s
Give an account of cultivation of paddy.
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Register.
-Number

sl - s sref .
Language - Part A - TAMIL - Paper I

Crd : 2 %Lnsuo‘r'\ ] ' [ Qurss LHLCUGTSET : 100

efliy : 1) eleoLsd Qgeflaursa, eNss Sjoelasraab @@55@)‘Gmsdm@|h.._
i) eflerr erador IV - @& Qeliyeh eugalér el erapgise GeucdrBid.

L a‘?@és&,rr@th alleirss@pe aomauald TiLguse L Eb ( euQeuratlhEin @dﬂ@
afle@pée Blamne ) alloL ausgs | 8x2=16
L. 8m. o). 8. sjuiaesh LoLSS BrosEnsr Hersamars SIS .

2. adeilgdler fHarsoss srise Coumn@b 7

3. deuudlanmb o cotssid ety Bhlaamerns @qﬂulﬂ@a.

4. Qésrremm DT &8 6T @éw&mm m!';mcm.b Blosdlert 2

5. umLreior flevewr - eflens@s.

6. ©DauEl urLelé @Rl Qu;busfrsw LDEDYG & @ 6ir [BIT 657 &5l 0T S5, B[
7. uTrs BTG admeasenTs .'gfsm-mrj;@ &r&HdHeuet wremel ?

8. erpsmt, Semhgmt ereubenm 2

9. ugst, eeg Qurfibsrt 1 eashE 2 Phert 7

10. &priyyreseid erapd) P68 2 1bPIL LevelhEES a_goﬁ]ymri‘am'r Wit 2 w7

[ Turn over



4001

IIL.

2
Epssragip elamésepsr TomaCued WHPEEE WLBD ( gu@eararfibed 40l

afls@pée Wamod )afﬂsmq_l TADEIS ¢ ' 3x5=15
i1, .q&,gﬂsﬁr Hptierené samnis .

12. gl SHpliyseené sans.

.13' ssmyradenwsefiu O&dakis s wreme ?

14. @euelr Fangamen aar S@UoeT GlERTihS (PP Sensd) TWGIS.

15. uradmgwesr pettorpeflsr Splysenmss Jﬁémmé sTSBTTIF &.Djm wreney 7

Lpsarggd olamsseper gGsgud gd'rrpgulhg pr@bd udeoahs aflease

Hemod aleoL erapgis : _ 1x7=7

16. @Lsdzé upd ;usﬂ@mﬁ FapIb HGHGSHOENS Qﬁrr@ﬁ@ B®S. %

17. anqmmﬁ'aaﬂm &8 Qeudsmenyd, @GCus prafldr  SiEe ﬂmmmub.
Q5reEC5WEe- | B

18. L& upPls sallet cueten$Bamer SapioueT WTEE ?

19. @psd spb @dpre weeaaEmsd CITGHE TWES.

Sereumaaraipeon i lpprosd awss : : 2+2+3+3=10

20. ‘wpér eard OBTLAKEGD @DeTyd, ‘CIGD’ e QYLD GPEETUD TAHEIS.

21, ‘) ‘soaueéarp aotdp QFTLREGD Qumfl ampsgl UT_mN TQYS.
(4 Syqa6 LED )

21) ‘aigyer sepper aad QBTLHEGD SDUFTDTLETIL LML PSS
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V. &péasrgoib SoarsE alaTssEnsEh e epgis : 430 i 10 ..

22.

23.

24.

25.

26.

sflurer elleoLows Corbblsdss TwWHs :

S0 gl A Eorle ; - ( emen [/ gevev )

QuUITHles TSTUBET QUITBEN .ovvereeriseenacnas «

2 &

3i) e

@) Gerever.

@b ghHils Geflifneanp BTHSET. @8 CsTLAD ...ccuernrene. ek gieTons.
2y GCurever |

<) agios

Q) {eowy.

LDBTETHOL LT dsst Heapon Syhdlasdle Qurfl QUUISSAT ... :

@) &y Gurd

<) afyor gpeaut
@) edymev urdflurt.

HEDUS 2 DILILSOT .ovcrerrrraransrnrsns :

<) 2An

%) usralyei®

@) ué]@sm_'.@.

[ Furn over
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. 31.

27.

28.

29.

30.

Epsargd Gpluraaé §iiflss auwsis :

QeuslieT$ ety eFHLL Db WTHSTSD

2 _siieTHgemeotis Grey.

) Qeucorursaemmed
2) S ffluiurssenre

augrSlliuT&SenTe.

&)

CarylL QLisaie sfurer sudossd CohOs058 TWES :

areiGarl L5086 SO .......

Quresss :

Geréd Qur st
S Yubd - @
) &% - e

- Gsmeir.

s Huser Gemd 55 WG 2

S) Beey

<) eflegonbe.

-----------

g (ep/w/®).
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VI. &pésrgid alamésene aoaCuaid ohseise i Gb ( gatlaurdambeb eparn)
afleeprée Bamoe ) alloL awes : 5x2=10

32. 2 6 auengSmenid eTETUS TR 2

33. @I;r@{bn's Ceguglier oyeilé euenihs qéomfrm& wreut 2

34. @diQam® sl b au.e 8. TRsEOTEGD GDeT a5 2

35. Qamg Sl UPHS SW WILSET WTema ?

36. flalwé ydlerrser a@mqn_e&r Bid sesorpedt BlHGUTT wreut 2
37. ydlsre aip s @DCUTS wergdlp Qemsier CouctorReus arael 7
38. QTS arfld ass6 ﬂmﬁQ&@ 2_flweuest 2

VII. Spéeraan alamésener aaaiCuaib q.pﬂ&rp@és@ LEGD ( peiQeuraihed D)
afla@rée Barwe ) aleor auss 3x5=15

39. asssw aEamd PrLoOL oL@ S0 Gmsoh@@m&m&; gm. . &.
SamISIDTIT 2

40. @& ampses aliug ety GaucIBh T . Q. uTpSFSpTT 7
41. Qurﬂqur(Bgrr@ dmbs @qc&r@ BeguemTTeysemer allenées.
42. vealud saald S Lhisehd ﬂb[bgm_m Tl ?

43. eeremeuwrtt b eumd wrrrhurrsmgﬁ urnq.u.lg,rra,é{ sl Qu@mewblL@EDTT 2

[ Turn over



4001 6

VI &péergan olamssepe gCsaub gapaébe wlipd ( uHloabs aflserss
Hamoe ) afleoL asls : | | 1x7=7

44. oeaumBd sovall Gup Géumh@in aaumss sHps OCssped He. o. s.
erciaury elers@Hpri 2 ' '

45. a2 . 8. eursefler Qelpe wpaird ualleer allerédl arapgs.

46. 2 Lpl  Yeveur fpruygremsoss  QsgOsrp  salosurs &@mﬁg
Bl&péHeows Qg,rr@g‘aﬁ TEIB. '
47. ‘gaoaurCy uTdvsnsE WaTCamy’ adTu®S allaTsEs.
IX. &pssraoid soarsg allamssapsed aloL TWES 10x1=10
48. @@Qmp&,@mm@m GTGBTLIG soverssvensasnomarnonion : |
. 3) Sisszion Hpdesdubd ; <) SGavenL
Q) opsrd : F) Sebusib.
49.. Gamq.ti; Qs Blylys.
e L wedreotifledt gsmuuﬁléa soaoS SOPL q@mgrni.l BBHBOUT ..ovcrecrnrenrnne. :
50. Epssrgmb Qam fgerer spdll Jopaoas JG5s :
| Sihs sresdlée Hsbureys QerpOurfle Gearss sl o5 a:rrcn‘mug,rﬂg;.. '
51. Spésrad amsEubd aeaems arébiub :
aetCar SumoLw Slursb.

52. slat sl oPelud o crEvou 2emtisn slet uTLe oLHS
QsrEuy :

o)  Smeuet@peu brene
<) Gleustoiur wre®

@) OGuesmndl wreve. -



53.

54.

55.

56.

57.

7 4001
Ceuppieow 2 meous Cardg Ty .

arpbaosiear 2 winhs @ETUCH W@ ..ovecverrerenens eP&Carer ( g, 2,

©&: @) ).
SP&HeETERD 2_cuend QBTLIS® 2 Bt CFTLiTsenTs WTHHS :
<) @@gmnm - @) sTwey Wsib.

Spsargmd Cerpaeaser @B Tt 5@6 gCsad G» CQerdome awd,

2561 @ BOLTGaer aflenéGs.
U, Ere, unt, senev.

aggoéséarr@fo afleoL eumory elerrd Qs WS :

- Quiflurt erestpréy F. Qleu. @yrwerbeougsrer GPlSHeb.

é?@é‘@rr@m Qarenaé Qerpaepet gearpee alfipg erawpss

3) Qoo - <) ghlesseud.




	SSLC_Hindi2_sep2009.pdf
	SSLC_Kannada2_sep2009.pdf
	SSLC_maths_sep2009.pdf
	SSLC_science_sep2009.pdf
	SSLC_Tamil1_sep2009.pdf

